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QUESTION 1

A network administrator is installing NetEdit. In order for NetEdit to manage the AOS-CX switches in the network, what
must be defined on the AOS-CX switches? (Choose two.)

A. Enabling telnet

B. Defining an admin user password

C. Defining the https user-group

D. Enabling the RESTful API for read and write access
E. Enabling SFTP

Correct Answer: BD

QUESTION 2

When comparing PIM-DM and PIM-SM, which multicast components are only found with PIM-SM in multicast routing?
(Choose two.)

A. IGMP querier

B. Rendezvous point
C. Bootstrap router
D. Shortest path tree
E. Designated router

Correct Answer: BD

QUESTION 3

The network is configured for OSPF with the following attributes: Corel and Core2 and ABRs Area 1 has 20 networks in
the 10.1.0.0/16 range Area 0 has 10 networks in the 10.0.0.0/16 range Area 2 has 50 networks in the 10.2.0.0/16 range
The ASBR is importing a static route into Area 1 Core2 has a summary for Area 2: area 0.0.0.2 range 10.2.0.0/16 type
inter-area Here is the OSPF configuration performed on Corel: Based on the above information, what is correct?
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Core1(config)# router ospf 1

Core1(config-router)# router-id 10.0.0.1

Core1(config-router)# passive-interface default
Core1(config-router}# area 0.0.0.0

Core1(config-router}# area 0.0.0.1 stub

Core1(config-router)# area 0.0.0.1 range 10.1.0.0/16 type inter-area
Core1(config-router}# area 0.0.0.2

Core1(config-router)# area 0.0.0.0 range 10.0.0.0/16 type inter-area
Core1(config-router)# exit

Core1(config)# interface vian 10

Core1(config-if)# ip address 10.0.1.1/24

Core1(config-if# ip ospf 1 area O

Core1(config-if)# exit

Core1(config)# interface vian 100

Core1(config-if}# ip address 10.1.1.1/24

Core1(config-ifj# ip ospf 1 area 1

Core1(config-if)# exit

A. Area 0 has 13 routes
B. Corel has no OSPF routes
C. Corel has received one LSA Type 5 from the ASBR

D. Area 1 has 23 routes

Correct Answer: D

QUESTION 4

Examine the VSX-related configuration of the core layer AOS-CX switch:
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ICX-Tx~-Corel(config)# vif KA

ICX-Tx-Corel(config)# interface 1/1/45
ICX-Tx~-Corel(config-1f-1/1,/45)% no shutdown
ICX-Tx-Corel(config-if-1/1,/45)# vrf attach KA
ICX-Tx-Corel(config-if-1/1,45)# ip address 192.168.0.0/31
ICX-Tx-Corel(config-if-1/1/45)# exit
ICX-Tx-Corel(config)# interface lag 256
ICX-Tx-Corel(config-if}# no shutdown
ICX-Tx-Corel(config-if)# no routing
ICX-Tx~-Corel(config-if)# vlan trunk native 1
ICX-Tx-Corel(config-if)# vlan trunk allowed all
ICX-Tx~Corel(config-if)# lacp mode active
ICX-Tx-Corel(config-if)# exit

ICX-Tx-Corel(config)# interface 1/1/46-1/1/47
ICX-Tx-Corel(config-if-<1/1/46-1/1/47>)# mtu 9198
ICX-Tx-Corel(config-if-<1/1/46-1/1/47>)# exit
ICX-Tx-Corel(config)# vsx

ICX-Tx-Corel(config-vsx)# inter-switch-link lag 256

ICX-Tx-Corel(config-vsx)# role primary
ICX-Tx-Corel(config-vsx)# vsx-sync vsx-global

ICX-Tx-Corel(config-vsx)# exit
ICX-Tx-Corel(config)# vsx

ICX-Tx~-Corel(config-vsx)# keepalive peer 192.168.0.1 source 192.168.0.0 vif KA
ICX-Tx-Corel(config-vsx)# exit

ICX-Tx-Corel(config)# interface lag 1 multi-chassis
ICX-Tx-Corel{config-lag-if)2 no routing

ICX-Tx-Corel(config-lag-if)# vlan access 1
ICX-Tx-Corel(config-lag-if)# lacp mode active

ICX-Tx-Corel(config-lag-if)z exit
ICX-Tx-Corel(config)# int 1/1/1

ICX-Tx-Corel(config-if)# description access1
ICX-Tx-Corel{config-if)# lag 1

ICX-Tx-Corel(config-if)# no shutdown
ICX-Tx-Corel(config-if)# exit

A network administrator is troubleshooting a connectivity issue involving the VSX LAG (link aggregation) between the
core and access layer switch, during HW replacement of one of the core switches. Which configuration should the
administrator add to the core switch to fix this issue?

A. ICX-Tx-Corel(config)# vsx ICX-Tx-Corel(config-vsx)# system-mac 02:01:00:00:01:00

B. ICX-Tx-Corel(config)# interface lag 1 multi-chassis ICX-Tx-Corel(config-if-lag-if)# mtu 9198

C. ICX-Tx-Corel(config)# interface 1/1/46-1/1/47 ICX-Tx-Corel(config-if-vlan)# active-gateway ip 10.1.11.1 mac
02:02:00:00:01:00

D. ICX-Tx-Corel(config)# interface 1/1/45 ICX-Tx-Corel(config-if-vlan)# active-gateway ip 192.168.0.0 mac
02:02:00:00:01:00

Correct Answer: D
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QUESTION 5

An administrator wants to implement dynamic segmentation policies. The network consists of AOS-CX and Aruba
gateways.

Which type of forwarding should the administrator implement for users that already connect via wireless, but will also be
connecting on Ethernet switch ports?

A. User-based tunneling (UBT)

B. Port-based tunneling (PBT)

C. Switch-to-switch tunneling (SST)
D. Local switching

Correct Answer: A
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